GEOMETRY Quiz 2.3
[image: image1.png]1. If point G is the centroid of AABC,
AE = 24,DG = 5, and CC = 14, o,
find DB.
A=F

2. The vertices of AEFG are E(2, 4), F(10, —6), and G(—4, —8).
Find the coordinates of the orthocenter of AEFG.

3.1fJL is a median for ALJK, find the ’
value of x.

4. Write a compound inequality for the
possible measures of ZL. T
5. List the angles of AGHI in order from

smallest to largest measure. 7
6. List the sides of APQR in order from

shortest to longest.

7. Name the shortest and the longest x
segments. "
g v
v
8. [P isa median of AEFG, find the £,
perimeter of AEFG:
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9. The measures of two sides of a triangle are 24 inches and
29 inches. If the measure of the third side is x inches, find the
range for the value of .

10. ¥W is the perpendicular bisector of ZT.
IfTW = 3, YW = 8, and XZ = 12. Find XY.
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[image: image2.png]11. Write and solve an inequality for
the value of x.

12. List all of the angles that have a measure
greater than Z1.



[image: image3.png]13. Determine whether M || KL
Justify your answer. 9
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14. In AABC, DE is parallel to AC and DE = 10. Find the length
of AC if DE is the midsegment of AABC.

For Questions 15 & 16 complete the proof by supplying the
missing information for each corresponding location.

Given: AB = DE, and BE > AD

£
Prove: mZCAE > mZCEA . @
Proof:

Statements |_Reasons

1. AB = DE, BE > AD 1. Given E

2, AB =DE 2. Def. of = segments

3.’ (Question15) 3. Reflexive Prop.

4. mZCAE > mZCEA 4. (Question 16)

17. Write an inequality 18. Write an inequality relating
relating mZ1 to m£2. relating AB to DE.
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19. Write an inequality about the length L

of GH. ; ﬁr
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[image: image4.png]For Questions 20-23, complete the proof below by
supplying the missing information for each corresponding
location.

Given: XW = YZ, XK > WK, and KZ > KY

Prove: m/XWZ > mLYZW 7 x
Proof: 2z

Statements |_Reasons

1. XW = YZ, XK > WK, 1. Given
and KZ > KY

2.XW=YZ

3.XZ > WY

4. (Question 22)
5. mLXWZ > mLYZW 5. (Question 23)

Write whether each sentence is frue or false. If false,
replace the underlined word or number to make a true
sentence.

24, The altitude of a triangle is a segment whose endpoints are
vertex of a triangle and the midpoint of the side opposite the
vertex.

25. The centroid of a triangle is the point where the altitudes of
the triangle intersect.

Choose the correct term to complete each sentence.

26.The point of concurency of the perpendicular bisectors of a
triangle is called the (circumcenter, median).

27. The (incenter, orthocenter) of a triangle is the intersection
of the angle bisectors of the triangle.

28, The sum of the measures of any two sides of a triangle is
(greater, less) than the measure of the third side.

Complete each sentence.

29a.Am)___isasegment that joins a vertex of a
triangle and is perpendicular to the side opposite to the
vertex.

29b.The of a triangle is equidistant from the

Vertices of the triangle.





[image: image5.png]30. MULTIPLE CHOICE Which of the following sets of numbers
can be the lengths of the sides of a triangle?

A 5510 BWVIVEVE C 253446 D 1,24




